Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme	HEALTHSCOPE LIMITED (HSP)
ACN/ARSN	006 405 152

1. Details of substantial holder

Name	Suncorp-Metway Limited and its subsidiaries
ACN/ARSN (if applicable)	010 831 722
There was a change in the int of the substantial holder on	erests 24/04/09

of the substantial holder on	24/04/09
The previous notice was given to the company on	16/04/09
The previous notice was dated	14/04/09

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities	Previous notice		es Previous notice Present notice	
Ordinary shares	Person's votes Voting power		Person's votes	Voting power
	19,553,561	7.6035%	23,069,758	8.9708%

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change	Consideration given in relation to change	Class & number of securities affected	Person's votes affected
Cines	Suncorp Metway Investment Management Ltd				
Since previous notice	Tyndall Investment Management Ltd		Refer Anr	nexure 2	
	New Zealand Guardian Trust Company Ltd				

4. Present relevant interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Persons entitled to be registered as holder	Nature of relevant interest	Class & number of securities	Person's votes
Refer	Annexures 1 & 2				

5. Changes in association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
Not Applicable	

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Refer to A	nnexure 1

Signature

Print name	C. Chuter	Capacity	Company Secretary
Sign here		Date	28/04/09

Annexure 1

Relevant interest holder	Registered holder of securities	Registration details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (AET)		
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SUNCORP CUSTODIAN SERVICES PTY LTD (IPT) SERVICES PTY LTD (IPT)		27,994
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	1,458
New Zealand Guardian Trust Company Ltd	HUNTER JOHN S AGENCY	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	8,200
New Zealand Guardian Trust Company Ltd	KYDD REMIA MORREN AGENCY	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	4,000
Mr Z E Switkowski	MR Z E SWITKOWSKI	LEVEL 16, SUNCORP CENTRE 36 WICKHAM TCE BRISBANE QLD 4000	30,000
Mr Z E Switkowski	KODOPTEL SUPERANNUATION FUND	LEVEL 16, SUNCORP CENTRE 36 WICKHAM TCE BRISBANE QLD 4000	100,000
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 9580-16 BTTYUT 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	219,691
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF BTR	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 9580-16 BTTYUT 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	22,995
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN	637,684

		CORE SHARE VALUE FUND GPO BOX 5078 SYDNEY NSW 2001	
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	5,739,696
Tyndall Investment Management Ltd	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	81,379
Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	703,052
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	5,743,948
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,748,031
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	96,752
Tyndall Investment Management Ltd	WILLIAM BUCKLAND FOUNDATION	TASMAN ASSET MANAGEMENT LIMITED A/C WILLIAM BUCKLAND FOUNDATION PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	184,559

Aluo DSD

Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MARITIME SUPER	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MARITIME SUPER A/C 15579-19 MRTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	868,939
Tyndall Investment Management Ltd	NRMA TREASURY LTD	JP MORGAN CHASE NOMINEES LOCKED BAG 7 , ROYAL EXCHANGE SYDNEY NSW 2000	223,424
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	894,250
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD FOUNDATION ACCOUNT	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LTD FOUNDATION ACCOUNT GPO BOX 5078 SYDNEY NSW 2001	116,372
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LIMITED GPO BOX 5078 SYDNEY NSW 2001	266,261
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD IOOF INVESTMENT MANAGEMENT LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C IOOF INVESTMENT MANAGEMENT LTD A/C 16080-18 IMTYAE 5TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	842,917
Tyndall Investment Management Ltd	OPTIMIX INCOME STRATEGY	OPTIMIX INCOME STRATEGY C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	163,265
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE INCOME FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE INCOME FUND GPO BOX 5078 SYDNEY NSW 2001	13,254

Tyndall Investment Management Ltd AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	3,783,081	
--	---	-----------	--

TOTAL UNITS 2

23,069,758

Annexure 2

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS
ΑΜΡ CAPITA	L INVESTORS				
AMPC	24/04/2009	Purchases	1133582.38	3.75	301516
TYNDALL AU	STRALIAN SHA	ARE WHOLESALE	PORTFOLIO		
TASWP	23/04/2009	Purchases	4321383.12	3.8492	1120947
TASWP	24/04/2009	Purchases	695328.48	3.75	184947
CAMBOOYA	PTY LTD				
CAMB	24/04/2009	Purchases	41513.61	3.75	11042
САМВООУА	PTY LTD FOUN	IDATION ACCOL	JNT		
VFFF	23/04/2009	Purchases	4433.38	3.8492	1150
VFFF	24/04/2009	Purchases	38141.24	3.75	10145
CATHOLIC SU	JPER RETIREM	ENT FUND			
CSRF	23/04/2009	Purchases	655535.85	3.8492	170043
CSRF	24/04/2009	Purchases	106509.73	3.75	28330
ΟΡΤΙΜΙΧ					
ΟΡΤΙ	16/04/2009	Purchases	136499.41	3.8515	35350
OPTI	23/04/2009	Purchases	1340979.71	3.8492	347844
ΟΡΤΙ	24/04/2009	Purchases	207737.22	3.75	55255
IOOF INVEST	MENTS				
IOOF	23/04/2009	Purchases	618303.12	3.8492	160385
IOOF	24/04/2009	Purchases	100302.62	3.75	26679
MARITIME S	UPER PTY LTD				
SERF	23/04/2009	Purchases	32880.31	3.8492	8529
SERF	24/04/2009	Purchases	284839.29	3.75	75763
MERCER INV	ESTMENT NOI	VINEES			
MERI	24/04/2009		1770580.52	3.75	470948
NRMA TREA	SURY LTD				
NRMA	23/04/2009	Purchases	10578.43	3.849198	2744
NRMA	24/04/2009		73334.94	3.75	19506

HSP FORM 604 DATED 24.4.2009

ABL	23/04/2009	Purchases	161089.96	3.8492	41786
ABL	24/04/2009	Purchases	26211.99	3.75	6972
OPTIMIX INC	COME STRATEG	GΥ			
ΤΟΡΤΙ	23/04/2009	Purchases	604251.22	3.8492	156740
ΤΟΡΤΙ	24/04/2009	Purchases	24531.45	3.75	6525
PUBLIC TRUS	STEE AUSTRAL	IAN CAPITAL T	ERRITORY		
PTACT	23/04/2009	Purchases	73174	3.8492	18981
PTACT	24/04/2009	Purchases	11459.28	3.75	3048
RAC INSURA	NCE				
RACI	24/04/2009	Purchases	27669	3.75	7360
WILLIAM BU	ICKLAND FOUN	IDATION			
WBUCK	23/04/2009	Purchases	5913.75	3.849198	1534
	23/04/2009 24/04/2009		5913.75 58401.77	3.849198 3.75	1534 15534
WBUCK					
WBUCK WBUCK		Purchases			
WBUCK WBUCK	24/04/2009	Purchases			
WBUCK WBUCK WILLIAM BU	24/04/2009 ICKLAND FOUN	Purchases	58401.77	3.75	15534
WBUCK WBUCK WILLIAM BU TACSVF	24/04/2009 ICKLAND FOUN 24/04/2009 ISTRALIAN SHA	Purchases IDATION Purchases ARE INCOME F	58401.77 214782.72	3.75 3.75	15534
WBUCK WBUCK WILLIAM BU TACSVF	24/04/2009 ICKLAND FOUN 24/04/2009	Purchases IDATION Purchases ARE INCOME F	58401.77 214782.72	3.75	15534
WBUCK WBUCK WILLIAM BU TACSVF TYNDALL AU	24/04/2009 ICKLAND FOUN 24/04/2009 ISTRALIAN SHA	Purchases IDATION Purchases ARE INCOME FI Purchases	58401.77 214782.72 UND	3.75 3.75	15534 57129
WBUCK WBUCK WILLIAM BU TACSVF TYNDALL AU TASIF TASIF	24/04/2009 ICKLAND FOUN 24/04/2009 ISTRALIAN SHA 23/04/2009 24/04/2009	Purchases IDATION Purchases ARE INCOME FI Purchases Purchases	58401.77 214782.72 UND 49125.78 1921.16	3.75 3.75 3.8492	15534 57129 12743
WBUCK WBUCK WILLIAM BU TACSVF TYNDALL AU TASIF TASIF	24/04/2009 ICKLAND FOUN 24/04/2009 ISTRALIAN SHA 23/04/2009 24/04/2009	Purchases IDATION Purchases ARE INCOME F Purchases Purchases	58401.77 214782.72 UND 49125.78 1921.16	3.75 3.75 3.8492	15534 57129 12743
WBUCK WBUCK WILLIAM BU TACSVF TYNDALL AU TASIF TASIF	24/04/2009 ICKLAND FOUN 24/04/2009 ISTRALIAN SHA 23/04/2009 24/04/2009	Purchases IDATION Purchases ARE INCOME F Purchases Purchases	58401.77 214782.72 UND 49125.78 1921.16	3.75 3.75 3.8492	15534 57129 12743